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Describe random sampling procedure. 

e.g.  allocate each pupil a no. from 000 to 199. Pick the sample using random no. 

       generator, ignoring repeats and nos. from 200 to 999. 

 

No. selected with surnames A – M      ( )B 8, 0 6X ⋅  
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On H0 …. 
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hence the smallest possible value of n is 43 

( )p Type I error = 5%  

 

If a Type I error does occur (and so H0 is wrongly rejected) then H0 must be valid. 
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No. of packets opened each day      ( )B 10, 0 4X ⋅  

 

( )p N 0 95 from tables ... N 7X £ ³ ⋅ ³  

 

so the smallest no. of packets that must be kept in stock is 7. 

 

No. of packets needed in a week      ( ) ( )B 70, 0 4 N 28, 16 8Y ⋅ » ⋅  
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“everyday” descriptions of the two 

distributions. 
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The standard deviation for Model 2 is less than   as the errors are more likely to be close to zero 

(the mean). 
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0 1H : 8 H : 8l l= <  

 

 On H0 the no. of letters arriving on a Monday  Po(8)X   
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 So with a  4.24%  significance level we reject  H0  if  3X £  

 

For the given Monday,  x = 2, so that gives us sufficient evidence on which to reject H0 and 

conclude that I receive fewer than 8 letters on Mondays. 

 

one assumption necessary to ensure that total letters over 4 Saturdays is Poisson 
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